
Petrozavodsk Summer Training Camp 2017
Day 2: UniBuc Contest, Tuesday, August 22, 2017

Problem J. Taxi
Input file: standard input

Output file: standard output

Time limit: 2 seconds
Memory limit: 256 mebibytes

You are given an undirected tree on N vertices. Each edge has a length, which is a strictly positive
integer. M taxis and M customers will appear in this tree, each taxi and each customer appearing in
exactly one node. It is possible that a node will contain multiple taxis and/or multiple customers.

A taxi-app will match customers with taxis. These days, the customer must pay for the distance that the
taxi travels just to pick them up. The taxi-app is mischievously greedy, so it will match customers with
taxis such that the total distance travelled by taxis to their respective customers is as high as possible.
Note that each taxi gets assigned to exactly one customer and each customer is assigned to exactly one
taxi.

There are N2M different ways in which the taxis and customers may appear in the tree. For each of these
ways, we can find the total distance travelled by taxis according to the mischievously greedy matching
picked by the taxi-app. Your task is to add all these distances together and compute this sum modulo
109 + 7.

Input

The first line contains two integers, N and M (1 ≤ N,M ≤ 2500).

Each of the next N−1 lines contains three integers: x, y and l. This means that there exists an undirected
edge between nodes x and y of length l (1 ≤ l ≤ 10 000). It is guaranteed that the given edges form a
tree.

Output

Print a single line containing a single integer: the required sum modulo 109 + 7.

Example

standard input standard output

5 2

4 5 9805

3 4 2001

2 3 6438

1 3 3790

10784056
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